2

MAEE [BHEEDHE] IX—E=X

e
(B )
= Ik BA(RIRICFABLALEE)
a&t
kB2 |FRARS |REAmE|SEEE | ar | BR =
Ha% o1l F A 5 4 2 1 1 12
{158 567,000 420,000 336,000 168,000 84,000 49,000 1,624,000
242,030 267,917 72,722 86,410 96,760 8,250[ 774,089
HEHEE 177,840 177,840
HEE 242,030 41,000 72,722 96,760 452,512
L E 0
% [LEEE 0
H EF-FETDE 0
= EE 0
BERMERE 0
BEHEAE 49,077 86,410 8,250 143,737
A& 0
EHME 0
RiEEE 324,970 152,083 263,278 81,590 0 40,750 862,671

¥ XHENKFEEZLRDBEIE. RIRELFBEADOEBELTVET,
¥ XHEE (£5R) 7,000 x 2ikATEEE # x 1258
X RXHEE (FHiIRFEE) 7,000 x 124 A
X X188 (EREE)7,000H x 74 8




